2. a+b=(8+51+(-2),—4+1)=(13,-1,-3)
da+2b=4(81,—4)+2(5,-2,1) = (32,4, —16) + (10, —4,2) = (42,0, —14)

laj = /@ + 12+ (—4)2=+B81=9
la—b|=[(8=5,1—(=2), -4 —1)| = (3,3, —5)| = \/32 + 32 + (—5)2 = V43

23. The vector (6, —2) has length (6, —2)| = /6% + (—2)? = v/40 = 2/10, so by Equation 4 the unit vector with the same

direction is L (6 _2)—<i _L>
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24. The vector —5i + 3j — k has length |—51 + 3j — k| = 1/(=5)2 + 32 + (—1)2 = /35, so by Equation 4 the unit vector

1 5 3 1
with the same directionis —(—5i+3j— k)= ——i+ —j— —=k
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25. The vector 81 — j + 4k has length 81 — j + 4k| = /8% + (—1)2 + 42 = /81 = 9, so by Equation 4 the unit vector with
the same directionis $(8i —j+4k) =8i—-$j+ ik
26. |(6,2, —3)| = /6> + 22 + (—3)2 = V/49 = 7, so a unit vector in the direction of (6,2, —3) is u = £ (6,2, —3).

A vector in the same direction but with length 4 is 4u = 4 - % (6,2,-3) = <2—74, %, — %>



